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Class: II Sec: …. Date :…………. 

Name: …………………………..                                                 Roll No: …… 

NoNoNo:………  

  Read the questions carefully and solve them. 

 
 

 a) Johan read 23 pages of a book on Saturday and 25 pages on Sunday. How many  

 

pages did he read in all on the two days? 

 

 

 

 

 

Ans :___________________________________________________________ 

  
 

 
T 

 
O 

 
 

 

 
 

 

 
 

 

 b) There are 43 mangoes and 21 oranges in a basket. How many fruits are  

 

there in the basket? 

 

 

 

 

 

Ans : ___________________________________________________________ 
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O 

 
 

 

 
 

 

 
 

 

 c) In a field there were 36 neem trees and 45 peepal trees. How many trees were 

  

there in the field? 

 

 

 

 

 

Ans : ___________________________________________________________ 

  
 

 
T 

 
O 

 
 

 

 
 

 

 
 

 

 d) There are 50 chocolates in one box and 46 in the other box. How many  

 

chocolates are there in both the boxes? 

 

 

 

 

 

Ans: ____________________________________________________________ 

 

 
T 

 
O 
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e) 

 

A balloon seller had 18 blue balloons, 14 pink balloons and 22 yellow 

 

balloons. How many balloons did he have in all? 

 

 

 

 

 

 

 

Ans : ___________________________________________________________ 

 

 

 
T 

 
O 

 
 

 

 
 

 

 
 

 

 
 

 

 f) There are 28 men, 17 women and 10 children in a bus. How many people are  

 

there in the bus? 

 

 

 

 

 

 

 

 

Ans : ___________________________________________________________ 

 

 

 
T 

 
O 

 
 

 

 
 

 

 
 

 

 
 

 

 g) Arun collected 35 stamps and her friend collected 33 stamps. How many stamps  

 

do they have together? 

 

 

 

 

 

 

Ans:____________________________________________________________ 

 

 

 
T 

 
O 

 
 

 

 
 

 

 
 

 

 h) Ritu has 46 rupees in her piggy bank and Rajan has 49 rupees in his  

 

piggy bank. How many rupees do they have altogether? 

 

 

 

 

 

 

 

 

Ans:____________________________________________________________ 
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